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1.The sunrisesinthe ____

A West B.East C.South D.North

1- IR o e & s € 2
A- B- ufvem

2.Abird lives in a

A.Nest B.Sky C.Kennel D.House

3. Apples and oranges are

A.Vegetables B.Trees C.Fruits

4. Owls ___atnight
A.Scream B.Cry

5. The plural of baby is

A.Babys B.Babies C.Children  D.Child
6.___ have trunks
A.Trees B.Snakes D.Buses
ESRitc DR TIRS
B- Wi

Orange .
A a B.an

8. Plural of tooth is :

A.Tooths B.Teeth C.Teeths D.Toothis

9. The prince climbed the tower : Which is the verb here?

A.Prince B.Tower C.Climbed D.The

D.Dishes

10.Choose the adverb : An elephant walks slowly
A.Elephant B.Walks C.Slowly D.An

11.The plural of loaf is :

A.Loafs B.Loave C.Loaves D.Loafs
12. Opposite of narrow is :

A.Deep B.Big C.Wide D.Large
13.The English alphabet has ___letters

A32 B.26 C.36

14.The female of a dog is called :
A.Puppy B.Doggy C.Bitch
15. Are there ___apples in the room?
A.Many B.Much C.Any

16.Thatis ___interesting book.
AA B.An C.The
17 Past tense of run is
A. Running B.Runs C.Ran
18. The 5th letter of English alphabet is
AF B.D CE

19. The female of horse is
A.Donkey B.Ass C. Stag
20.Felt is the past tense of
A.Fell B.Fly C.Fault
21.___is called the ship of the desert
A.Snake B.Cactus C.Camel

D.Ranned
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22.There are ___days in a normal year

A.400 B.31 C.360 D.365

C- 360

23.The largest animal in the world is

A.Elephant B.Giraffe C.Blue whale  D.Hippo

23- et o1 Ger feretet 1er el g hiq @ e ?
A- BTl B- fSRT® C-==a D- RAE =rer
24. Which is the smallest bird?

A.Sparrow B.Ant C.Humming bird  D.Crow

24- FIH DS | B fafea e ?

A- T B- =ier C-effwsE  D-ehreT
25. The tallest animal in the world is

A.Zebra B.Kangaroo C.Giraffe D.Elephant

25- Yol TR Hel o 9 & ?

A- STRT B- HM& c- fos D- =it
26.The longest river in the world is

A.Nile B.Ganges C.Sutlej  D.Hwang ho

26- g T T wiel A& ?

A- e B- T C- Haer D- & &
27. The largest ocean in the world is?
A.Indian Ocean B.Pacific Ocean

C.Arctic Ocean D.Atlantic Ocean

27~ gf+eRT & T ST HEHFR 2
A- &2 werR
C- 3Thiesh AR

B- W3Iid HEMRR
D- 3Tedifesh HEHRR

28. The largest flower in the world is :
A.Lotus B.Rafflesia
C.Calendula D.Cauliflower

28- T BT G TS FeA §
B- Ywifman

A- hHA

29. What does your heart pump?

A.Blood B.Air C.Water D.Breath

29~ STYRT feel 4T U9 a1 © 2

A- TR B- &l C- it
30.How many sides does a triangle have?

A4 B.6 C.8

30- T FreRror & fRat geTe S T 2
A-4 B- 6 C-8
31.0ur national flag is
A.Tricolor

C.Happy feet

B.Star stripes
D.Star

32.The 10th month of the year is?
A.November B.October
C.December D.July

33. 120 minutes make

A.1 hour B.2 hours C.1 day

33- 120 fife =90 &

A- 1 =UeT B- 2 T c-1f&
34. __ comes before October

A.July B.September C.November

35.The first day of the week is ___
AMonday  B.Saturday C.Sunday

36.Graphite used in pencils?

A.Talc B.Silver C.Quartz

36- JprEe el A seaHTer foRa ST §
A- TR B- =idl C- TS

D.60 seconds

D- 60 HepUE

D.August

D.January
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37. Carrotisa:

A.Root B.Stem C.Leaf D.Fruit

C- it

38. The biggest continent in the world is

A.Asia B.Australia C.Africa D.Arctic

39. The most populous country is :

A.Pakistan B.China C.India D.Afghanistan

39- Gor 31Uk foh ST T STEEl &

A- TR B- == C- 9Rd D- AFMR
40.Which sport is played at Wimbeldon?

A.Cricket B.Tennis C.Football D.Races

40- fq=ered ¥ & 1 T Tl ST g ?

A- frehe B- efrw C- Feare D-
41. Which number is lesser than 10 but greater than 5?
A2 B.8 C.12 D.15

41- HIT G E& 10 A HT T 3R 5 T fs ?

A-2 B- 8 C-12 D- 15

42 What time is it , if the big hand is on ten and the small
hand is on 87
A.7:50 D.8:00

B.8:10 C.10:50

42- IR T GE 10O RTINS G S WA RN TAI S ?

A- 7.50 B- 8.10 C- 10.50 D- 8.00
43.2 dozen =

A.20 B.12

43- T TS el fepa 21 2
A- 20 B- 12
44, is 200 more than 546

A446 B.346 C.546

(3)

44- 546 3 200 HMATFTE ?

A.446 B.346 C.546 D.746

45. Which one is correct?

A.4+2=6 B.4x2=6 C.2+6=12 D.4+3=18
45-TH A DT W T ?

A- 4+2=6 B- 4x2=6 C-2+6=12  D- 3+4=18
46. 2+3+4+5="7

A12 B.14

46. 2+3+4+5 1 I BT T
A- 12 B- 14
47 Which is greater than 112 ?

A.102 B.213 C.A1

47. 12 AT R i 7 2

A- 102 B- 213 C- 111 D- 13
48.The missing number in the pattern 232,242, 262 is?

A.222 B.225 C.252 D.243

262, e H el wEwm W
B- 225

48. 232, 242,

A- 222 C- 252 D- 243

49. There are 3 sweets in a packet. How many are there
in 9 such packets?

A12 B.21 C.28 D.27

49- T Yene ¥ 3 feTEAi €2 9 U Uehe § oot femai & 2

A- 12 B- 21 C- 28 D- 27

50. Three hundred nine can be written as ?
A.3009 B.300 C.309 D.30090

50- < Gt A et B 6 ferait ?

A- 3009 B- 300 C- 309 D- 30090
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